Plan for today:
1. Finish 2.1
2. Start 2.2

Learning Goals

1. Be able to set up and solve a differential equation which describes the/growth of a population
based on information given by the problem in hand. Such a differential equation may or may not
be a logistic equation.
Be able to recognize stable, unstable and semistable critical points of an autonomous ODE

3. Be able to identify|the critical points and equilibrium solutions of an autonomous differential
equation and construct a phase diagram.

4. Be able to extract qualitative information about the behavior of solution of an autonomous
differential equation from it phase diagram

5. Be able to construct a bifurcation diagram for a differential equation depending on a parameter

Reminders-Announcements

1. HW 09 moved to Thursday. HW 07 and HW 08 still due Tuesday.
2. No class on Wednesday (Reading Day)

3. Read the textbook!
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